£ ¢ aga Yogs NTSE W
ol=: . 54
1.09 = % 1.84 = %

135 = % 0.48 = %

033 = % 1.77 = %

1.75 = % 1.05 = %

1.98 = % 0.69 = %

0.79 = % 0.92 = %

0.68 = % 1.84 = %

128 = % 0.28 = %

0.6 = % 1.86 = %

177 = % 035 = %

www.snowmath.com



https://www.snowmath.com

£ ¢ acga UESS HTISE M
JEe - Ha
1.09 = 109% 1.84 = 184%

1.35 = 135% 0.48 = 48%

0.33 = 33% 177 = 177%

175 = 175% 1.05 = 105%

1.98 = 198% 0.69 = 69%

0.79 = 79% 0.92 = 92%

0.68 = 68% 1.84 = 184%

1.28 = 128% 0.28 = 28%

0.6 = 60% 1.86 = 186%

1.77 = 177% 0.35 = 35%

www.snowmath.com



https://www.snowmath.com

